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d)\Thc function /(y) = |x| + [x — 1] is continuous for .
.-T(All Realno /jOnly at 0 / Only at-1 / Not continuous)

tpcH f (x)>Jx|+ lx- 11 ?RI<T ^TT.... (^41dlid^th Wllfy 0 W 1W 'McT t)

e) |f^tan^x. Theti^atx=-lis... ..^s*.(■^o, 1,-1)
, — tan~\x xW *1 ^Il..tfy. (1/2.0,1,-^-"

z.^< < \ Croup;(A) (^U -V)
Q.l Answerail questions as directed.

a) Whstyjjb be order of niatnx BA.IfordttNifmatrix A is nf nand5 is px^l.
(nj^m /pxn / n^j>/nxn ) > ?^yz

BA >^41 sbll I A m $c.n B .^x m 1
;Xm x m Ipxn p I n x n ).£y .C •

a2_ z’C
If|3 J|,then tl!e valueofais>.C ' \
(2.0,1,^1) • ' AY /b

Ki ?l =Pt th a • • -^y
(^b,i,-i) >Av <;c$-

^^Iff(x)=x?4^.Thcii/(x)^^ r-y 5
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Q.5 

Q.6 

Evaluate: lim tcosx 
X 

1+cos x lim 
Xn tan2x 

For what value 

tan'x 

alue ofk. given functiony)=}**is continyous at x = 3. 
k,if* = 3 

Hg 

Find-the equation of thè circle which toùches the both axès in first quadraht and whròse radius is a umi 

Find theguation of the sftaight lme passing through the orign and point of int¢rsectipn 
of the lne's Sx -6y-1F0 and 3x + 2y.f3= 0. 

OR (YG0 

r EII0SN6y -1 -0 r 3x + 2y +540 ftdcaft JRA. 

Group (C) q4-) 
Answer al fve questions, (î ua vat gr }) 

Q.7 Diftereniiate tan vat (sin x)* with respect to x. 

OR (Ha) 

Find the differential coefficientof x3 from firstprinciple of de rívative. 

Q.8 Find the value of pfor which the vectors å = 31 + 2)+9k and b = i4pj + 3k are 
0 Perpendicular (' Parallel 

p foH4 fes af|TI Z+ 2j + 9k ir B =i+pj t3k 

00AELX0AUN 

OR (4YT) 
the following system of equation by matrix inversi�n method. 

x+y-z 1, 2x2y + z= 6, and,|- 2y + 2z #4: 

Dx+y-z =1,2*- 2y + z=6, 3hR x-2y f2z = 4. 

6ts-30 
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Q.9 Find the equation of tangent to the curve y = x +at thie point (2, 3)% 

Q.10 

T# y=x+ fäg (2, 3) qeysftaTVÍTUATA 

Prove that maximum vaueo the curve y_inx + cosx 
OR (3/4I) 

Fid te eqation of a cick whch passs trough te potts (3,0),(1,-6),(4,1) 

OR (rqT) 
Find the equation of parabola with focus (-2,0) and directrig 3-0. 

Aufafàa 

Q.11 A bag contains. gi
kets numbered [o 30. Find the probability if one ticket drawn froi bag 
'at random wil.b� prime number 

t1X994000A 1E1X90 

AET 

OR(30UI) 
Find the variance forthe following data: 57, 64, 43, 67,49, 59, 44, 47, 6I, $9. 

fyuRU IÄI0fGr: S7, 64, 43, 67, 49, 59, 44,47, 61, 59 
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